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Q1. Multiple Choice Questions. 

1) In 1999, the world population reached 

(1) billion 

(ii) 6 billion 

(iii) 3 billion 

2) Which are three main factors that cause population change? 

(i) Births, deaths and marriage 

(ii) Births, deaths and migration 

(iii) Births, deaths and life expectancy 

    3) Which one of the following is not a fertile area? 

(i) Ganga plain 

(ii) Sahara 

(iii) Nile basin 

  4) Population density is normally expressed as 

(i) Per square km 

(ii) Per square ten thousand kms. 

(iii) Per square metre 

(5) What is a population pyramid? 

 (i) A graphical presentation of the age, sex composition of a population 

(ii) When the population density of an area is so high that people live in tall 



buildings. 

(iii) Pattern of population distribution in large urban areas. 

 

6) Which does the term population distribution refer to? 

 (i) How population in a specified area changes over time. 

(ii) The number of people who die in relation to the number of people bwana 

specified area 

(iii) The way in which people are spread across a given we 

 

2) Fill in the blanks. 

a) _______________________are nation's greatest resource. 

b) Japan is more_________________ developed than Bangladesh. 

c) _____________________are those who arrive in a country. 

d) Another word used for the relief of the land is ___________________. 

 

3) Complete the sentences below using some of the following words. 

Sparsely, favourable, fallow, artificial, fertile, natural, extreme, densely 

 

When people are attracted to an area it becomes______________________ populated.  Factors 

that influence this include__________________ climates; good supplied ____________________ 

resources and_____________________________ land. 

4) State whether True or False. 

a) Births and deaths are the natural causes of population change. 

b) The death rate is the number of deaths in a year. 



c) Life expectancy is the number of years that an average person can expect to live 

d) The population will grow to 8525 million by the year 2028. 

5) Match the following. 

Column I      Column II 

 

 (a) Varanasi     (i) High population growth rates 

 

(b) Kenya     (ii) Industrialized 

 

(c) Japan     (iii) Religious 

 

(d) Osaka     (iv) Densely populated 

 

 

6.) Give reasons. 

(a) Why is population pyramid also called age-sex pyramid? 

(b) Why do people mostly migrate from less developed nations to the more develop 

(c) Why is water an important factor in determining the population density? 

(d)The world population has grown very rapidly.why? 

(e)What is meant by population composition? 
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